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倍角與半角公式（2）

高中數學（二）
隨 堂 評 量 卷

第　20　回
範

圍

 計算題（共 100 分）

1 設 0 < θ < 
π

2
，試化簡 √1 − sinθ − √1 + sinθ﹒（25 分）

x：√1 − sinθ − √1 + sinθ
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θ

2
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）
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2
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2
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2
）2
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2
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∵ 0 < θ < 

π

2
　∴ 0 < 

θ

2
 < 
π

4
 ⇨ 0 < sin 

θ

2
 < cos 

θ

2

故原式為 cos 
θ

2
 − sin 

θ

2
 −（sin 

θ

2
 + cos 

θ

2
）= −2 sin 

θ

2
 即為所求

2 試求 cos20°cos40°cos60°cos80° 之值﹒（25 分）

x：cos20°cos40°cos60°cos80°

= 
1

2 sin20°
（2 sin20°cos20°）cos40° × 

1
2

 × cos80°

= 
1

4 sin20°
 × sin40°cos40°cos80°= 

1
8 sin20°

（2 sin40°cos40°）cos80°

= 
1

8 sin20°
 × sin80°cos80°= 

1
16 sin20°

（2 sin80°cos80°）

= 
1

16 sin20°
 × sin160°= 

1
16 sin20°

 × sin20°= 
1

16
 即為所求
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3 試化簡 
cos9θ − cos5θ + cosθ
sin9θ − sin5θ + sinθ﹒（25 分）

x：cos9θ − cos5θ + cosθ
sin9θ − sin5θ + sinθ  = 

（cos9θ + cosθ）− cos5θ
（sin9θ + sinθ）− sin5θ

= 
2 cos5θ cos4θ − cos5θ
2 sin5θ cos4θ − sin5θ  = 

cos5θ（2 cos4θ − 1）
sin5θ（2 cos4θ − 1）

= 
cos5θ
sin5θ  = cot5θ 即為所求

4 試求：1 cos25° + cos95° + cos145° = ？（10 分）

    2 sin25° − sin85° + sin145° − sin150° = ？（15 分）

x：1 cos25° + cos95° + cos145°=（cos95° + cos25°）+ cos145°

	 = 2 cos60°cos35° + cos（180° − 35°）= 2 × 
1
2

 × cos35° − cos35°

	 = cos35°− cos35° = 0 即為所求

2 sin25° − sin85° + sin145° − sin150°

	 =（sin145° + sin25°）− sin85° − sin（180° − 30°）

	 = 2 sin85°cos60° − sin85° − sin30°= 2 × 
1
2

 × sin85° − sin85° − 
1
2

	 = sin85° − sin85° − 
1
2

 = −
1
2

 即為所求


